Section 2, Module 1: Math

Test 2—Math
Module 1

DIRECTIONS

The questions in this section address a number of important math skills.
Use of a calculator is permitted for all questions.

Unless otherwise indicated:

. Allvariables and expressions represent real numbers.
. Figures provided are drawn to scale.
« Allfigures lie in a plane.

. The domain of a given function fis the set of all real numbers x for which f{x) is a real

number.
e /EN ’ C ‘
w L 3o
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REFERENCE
A=nr? A=tw

b
C=2nr A=1bn ¢2=a+b? Speclal Right Trlangles

£
V = twh V =nr’h V= ‘—énr3

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2r.
The sum of the measures in degrees of the angles of a triangle is 180.
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Section 2, Module 1: Math

For multiple-choice questions, solve each problem, choose the correct answer from the choices provided,
and then fill in the circle with the answer letter. Enter only one answer for each question. You will not get
credit for questions with more than one answer entered, or for questions with no answers entered.

For student-produced response questions, solve each problem and write your answer in the test book as
described below.

« Enter your answer into the box provided.
« Ifyou find more than one correct answer, enter only one answer.

» Your answer can be up to 5 characters for a positive answer and up to 6 characters (including the
negative sign) for a negative answer.

« Ifyour answer is a fraction that is too long (over 5 characters for positive, 6 characters for negative),
write the decimal equivalent.

« Ifyour answer is a decimal that is too long (over 5 characters for positive, 6 characters for negative),
truncate it or round at the fourth digit.

« If your answer is a mixed number (such as 3%), write it as an improper fraction (7/2) or its decimal
equivalent (3.5).

« Don't enter symbols such as a percent sign, comma, or dollar sign in your answer.

| CONTINUE 4
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Section 2, Module 1: Math

n K} Mark for Review .

A social media account posts at a constant rate. The
relationship between the number of posts, p, and the
number of days, 4, is given by the equation p = 454.
How many posts does the account make during a 3-day
period?

n m MAark fqr ReV,i.?V}/, B

Triangles MNO and XYZ are 31m11ar rlght trlangles
Angles /Vand Yeach have a measure of 90°, and angle O
corresponds to angle Z. If angle X has a measure of 23°,
what is the measure of angle M?

-
® 23°
\_
67°
)
© 90°

( )
® 45
\. J
( R
48
L J
( 3
© 90
{ N
© 135
\. J
n l:] Mark for Review: . , ¢
Which of the following equatlons represents alinein
the xy-plane if the line passes through the point (0, 10)
and has a slope of -3?
® y=-3x-10
y=-3x+10
© y=3x-10

© 157

B m Mark for ReV|ew o

If 4, g, and 7z are positive numbers, which of the
following expressions is equivalent to (4> ' )(a® i 2n)?

r 2
® g

o J

4 3
a’gn

\ J

's 2
© ¢ 5n

— J

{ 3\
© 4%®n

- J

® y=3x+10

n‘ [:] Mark for Review

. e 12 1
What is the value of % if i -?

]
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0 5 1|0 1‘5 2'0
Height (feet)
The box plots represent the height, in feet, of ladders

available at two hardware stores. Which of the
following is a true statement based on the box plots?

- )

@ The mean height of the ladders at store A is
greater than the mean height of the ladders at
store B.

The mean height of the ladders at store B is
greater than the mean height of the ladders at
store A.

© The median height of the ladders at store A is
| greater than the median height of the ladders at B.

J

@ The median height of the ladders at store B is
greater than the median height of the ladders at
store A.

BB [verkforReview
y = 246
y =150

When the given equations are graphed in the xy-plane,
they intersect at the point (x, y). Which of the following
is a possible value of x?

-
® 5
\

® 6
© 12
© 25

Section 2, Module 1: Math

Based on a random sample of adults, it is estimated
that the proportion of adults who have insomnia is
0.35. The margin of error associated with the sample
is 0.07. Which of the following is the most appropriate
conclusion about the proportion of adults with
insomnia in the population based on this estimate and
margin of error?

( 3\

@ It is likely that the proportion is less than 0.28.

s ™

It is likely that the proportion is greater than 0.42.

7

@ It is likely that the proportion is between 0.28 and
0.42

s N

@ It is likely that the proportion is exactly 0.35.

n ‘;:mVMarkfoy Review

y = 10x - 20

2y = 10x - 20
Two equations are given. At how many points do their
graphs intersect in the xy-plane?

-
@) Zzero
-

{ 3
(B) Exactly one

© )

{ \
© Exactly two

— —

4 A

(@ Infinitely many
e

| CONTINUE 3
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Section 2, Module 1: Math

The graph of the hnear function gin the xy-plane passes
through the points (-3, 39) and (0, 3). If y = g(x), which
of the following equations defines g?

The populatlon of a certain town decreases by 150
people every 5 years. The population of the town is best
described by what kind of function?

m [:} Mark: for Rewe N,,

What is the value of kif b = 27 and 2abk 272

]

m E] Mark for Revnew

The amount of money 4, in dollars that Sarah has
saved from babysitting is modeled by the function
d(w) = 150 + 50w, where w is the number of weeks
since she started babysitting. What is the predicted
amount of money, in dollars, that Sarah saved every
week?

.
® 3

—
' B
50
's )
© 150
\ ./

J

® 200
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( ) ' 2
® gx) =-12x+3 (®) Decreasing linear
. J . J
' gx) =-6x+3 A ' Decreasing exponential )
\ ) L J
r © glx) =3x+36 | [ (© Increasing linear R
L J L )
' © g(x) = 39x + 42 ) (@ Increasing exponential )

mMarkfor:R view o
x— 9}/ =-3

x-27y=-
If (x, y) is the solution to the given system of equations,
what is the value of x?

]

Mark for Rev:ew

The equation )= x* + 16x - 39 relates the varlables x
and y. If (4, 4) is the minimum value of this equation,
what is the value of 2?

]




Section 2, Module 1: Math

BT [ vorkoreview

The function gis defined by g(x) = 12 — 2x. In the :  The scatterplot shows the water remaining in a series

Markfor K

xy-plane, the x-intercept of the graph of y = g(x) is at i of cups that initially held the same volume of water and
(m, 0), and the y-intercept is at (0, n). What is the value of : were left sitting in the sun for several hours. A line of
m—n? ¢ best fit is also shown.
® -18 o
- J 2.0
- ~ g Iths
-6 J g g 14 * = ]
\ 5o 2 1.2 » ~<T-
3 1.0
r A — 2 [ ]
£°038
© 12 .5 0.6
\ / £ 04
( ) & 02
@ 18 : 0 X
\ J 0 05 10 15 2.0 25 3.0

Time, in hours

Which of the following is closest to the water remaining
in a cup, in ounces, predicted by the line of best fit when
1.25 hours have elapsed?

BEA [ verkforReview

A scale model of a square park has an area that is L [ @ 1.9

4,096
of the area of the actual park. If the side length of the

actual park is x times the side length of the scale model, 1.5

what is the value of x?

© 17

| © 138

CCONTINUE 3
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Section 2, Module 1: Math

An angle is made of two smaller angles, A and B. : Asample of a certain radioactive element is tested and
¢ found to have 16,000 radioactive units. Two hours later,
: itistested again and found to have 4,000 radioactive
of Angle Bis = the measure of Angle A, what is the {  units. The formula R = 5(0.25)”, where R is the number
] 3 . ) i ofradioactive units remaining t hours after the first
combined measure of both angles, in radians? i test,and p and S are constants, models this situation.
( \ i Whatis the value of p?

If Angle A measures 150 degrees, and the measure

5
@ E § s 1 W
\ J @ -
- - N L 4,000 )
L 3 ) ; ( L =\
r o \ L 120 )
\ © E J E f 1 )
f 10n : - © 2 J
® L % ~
. J @ 2
\ J
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Section 2, Module 1: Math

[7%+ 65 If ¢ is a constant less than 26, which of the following are

1= PR solutions to the equation (x + 3¢)(80 + x) = 80 + x?
: I. -80
What is the greatest solution to the given equation? : II. -3¢
: IIL 1 -3¢

-

III only

@ Iand II only

(® IandIlonly

YIELD
Once you've finished (or run out of time for) this section, use the answer key to determine how many

questions you got right. If you got fewer than 14 questions right, move on to Module 2—Easier,
otherwise move on to Module 2—Harder.
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Section 2, Module 2—Easier: Math

Test 2—Math

Module 2—Easier

DIRECTIONS

The questions in this section address a number of important math skills.
Use of a calculator is permitted for all questions.

Unless otherwise indicated:

. Allvariables and expressions represent real numbers.
. Figures provided are drawn to scale.
. Allfigures lie in a plane.

. The domain of a given function fis the set of all real numbers x for which f{x) is a real
number.

REFERENCE

g " bL C x SN
w o
|-| 30 u - 45°
a V3

A =qr? A=tw b > . . S

C=2nr A=1bh ct=a?+ b? Special Right Triangles
; . ‘

V= (wh V=nrth V=t v=1mrn 1 Lown

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.
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Section 2, Module 2—Easier: Math

For multiple-choice questions, solve each problem, choose the correct answer from the choices provided,
and then fill in the circle with the answer letter. Enter only one answer for each question. You will not get
credit for questions with more than one answer entered, or for questions with no answers entered.

For student-produced response questions, solve each problem and write your answer in the test book as
described below.

» Enter your answer into the box provided.
+ Ifyou find more than one correct answer, enter only one answer.

+ Your answer can be up to 5 characters for a positive answer and up to 6 characters (including the
negative sign) for a negative answer.

« Ifyour answer is a fraction that is too long (over 5 characters for positive, 6 characters for negative),
write the decimal equivalent.

« Ifyour answer is a decimal that is too long (over 5 characters for positive, 6 characters for negative),
truncate it or round at the fourth digit.

« Ifyour answer is a mixed number (such as 3%), write it as an improper fraction (7/2) or its decimal
equivalent (3.5).

» Don't enter symbols such as a percent sign, comma, or dollar sign in your answer.

| CONTINUE 4
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nimm'Maﬁrkﬁ.‘forLReview e s
ot pronmre e SN PRSI i . S e e R e

What is 60% of 300?

—
® 30
.

~
120
.

J N/ \\

© 180

L@ 240

60
55 1
g 50 1+ .
£ 4517 v
5 401 - o & —
5 SThE L'
: B E p
Qg 30"—\%%% ébwﬁ x.ﬁ;_
g 25T gh-—1 A Al
é 20+ g By e
2 Bker—5 e
4+ % —
10 BE w e
51" }-gg S“ gg“ ﬁf} B
o ;
w X Z
Soap brands

The bar graph shows the results of a market research
survey that asked consumers to choose their favorite
brand of soap. How many consumers chose Brand Y?

( )

® 43

\. J

® 46

» .

© 54

\. J
]

®© 57
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B [ erkiorReview,

If 26 — 12 = 144, what is the value of 4?

|+ BN

A street artist takes 5 minutes to draw one portrait. At
this rate, how many portraits would the artist draw in
35 minutes?

]

The function 4 is defined by the equation given. If
h(x) = 10, what is the value of x?

]

” h(x) :M3x— 2A



Section 2, Module 2—Easier: Math

The functlon fis deﬁned by f(x) = x? — 15.If f(x) = 49,
what is the value of x?

p
® 7

® 8

-
© 15
.

© 32

,ﬂm‘Mark;fOr Review

[«)]

[ 4

N
i

w

(W]
S,

[LEY

1 0 1 2

What is the y-intercept of the graph shown?

® © 5

Dalisha is given a stlpend of $3 600 to pay her student
housing rent of $450 per month. If 7 < 8, which
equation represents the amount remaining in the
stipend, s, in dollars, after »z months?

r

®) s = 450m - 3,600

—

7

s = 450 - 3,600m

—

( © s = 3,600m — 450
-

® s = 3,600 - 450m

——

nz m Mark for Review

3

+
6-3y

1
y-4

Which of the following expressions is equivalent to the

given expression?

>
, 6)

© G0

®© 6,0

\,

( P )
L® (y-4)(6-3y) )
" 6 )
g (y-4)(6-3y) )
o 4 N
¥© 2_}'-{-2 )
@ (7-4)(6-3y) 6 37) J

| CONTINVE 3
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Section 2, Module 2—Easier: Math

: M
3 feo
4 =5

y i Alinear relationship between x and y is shown in the

Y graph. Which of the following tables contains values of
% x and their corresponding values of y?
3
o )
2 ® X y
il -31-3
-2 1 -2
-3_1-2_N\1_10 ) 1 3.1 4 X Tl
N 0 0
\ J
-3 - —
B x
-3 3
211
-1 -1
0| -3
e 3
-3 -3
-2 | -1
-11-1
0 3
-3 3
-2 2
-111
01| -3
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Section 2, Module 2—Easier: Math

/ . m : equation 92 — 26 = ¢. Which of the following equations
i correctly expresses a in terms of 4 and ¢?
f @ 4= 26+ ¢ )
- 9 -
55" r ( a=24c
s —
p
c
P@ a=2b+ )
{ '
© 2=92b+ 9

\— J

Note: Figure not drawn to scale.

In the figure shown, if line /is parallel to line 7, what is

the value of y? MQMa ¢for Revi

Which of the following systems of inequalities, when

graphed in the xy-plane, includes the point (2, -5) as a
i solution?

-
@ x<0

<0 J

e ™
121 x<0
LB LAY ke : y20

If a circle has a radius of 4 meters, what is the IS J

circumference, in meters, of the circle?

. a
< ©x20
[@ o | . y<0 )
r 4 (@ x>0

J y=z0

\— J/

p
© 8n
@ 16

| CONTINUE _ 2
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Section 2, Module 2—Easier: Math

DNWHRUITH 00 O

X

Ob—‘

12345678910

Which of the following linear equations best models the
relationship between x and y shown in the scatterplot?

[@ y=-15x-2.6

y =-15x + 2.6

® y=15x+26

[
[@ J= 15v-26 ]
[

Iﬂ . [:]MarkforRev.e

The population of a certain species of fish is decreasing
at a rate of 4 percent each year. Assuming the decline
continues at the same rate, there will be approximately
804,944 fish of this species remaining 5 years from now.
Which of the following equations could be used to find
. the current population of this species of fish?
(. )
® p = 804,944(0.96)°

J

ﬁ \
804,944 = p(0.96)°

d j 1
© p = 804,944(1.04)°

If3|2 + 2| - 5|a + 2| = —24, what is the negative value

of a?

]

B (v

If ax"(8x + 7) = 56x® + 49x7, and « is a constant, what
is the value of 4?

The expression n(37)(7)? can represent the volume, in
cubic feet, of a cylindrical barrel. If »is the radius, in
feet, of the barrel, which term represents the height, in
feet, of the barrel?

® r
.
® 3

©3r

@ 804,944 = p(1.04)°
.
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Section 2, Module 2—Easier: Math

Y - BaT

A square with a diagonal length of 8 centimeters (cm)

L {9 _ : hasacircle inscribed in it. What is the area, in cm?, of

-2 1-10 ¢ thecircle?

118 [ N
: 4

4 | 20 @ )

{ )

The table shows values of p and their corresponding :
values of g. Which of the following inequalities could L 8n

represent the relationship between p and ¢? : ( :
( Y 16n

® g<6p+3 : p )
\ J i “
( N | © 320

q>6p+3 P J
( ) :

@ g<3p+6

® 9>3+6

B Chonorseien
g(x) = (x — 2)(x— 4)(x + 3)
h(x) = glx + 3)

Functions g and 4 are defined by the given equations.
The graph of y = A(x) has x-intercepts at (1, 0), (», 0),
and (p, 0). If 7, n, and p are distinct constants, what is
the value of mnp?

EE )
EE )

(- )

( 3
o
e/

STOP
If you finish before time is called, you may check your work on this module only.
Do not turn to any other module.
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Test 2—Math
Module 2—Harder

DIRECTIONS

The questions in this section address a number of important math skills.
Use of a calculator is permitted for all questions.

Unless otherwise indicated:

. Allvariables and expressions represent real numbers.
. Figures provided are drawn to scale.
« Allfigures lie in a plane.

. The domain of a given function fis the set of all real numbers x for which fx) is a real
number.

REFERENCE

£ :h b[_‘\ 2x60%) s 457\ sV2
w o
L . 30 & . i 45°

A=nr A= tw b 3 o s
C=2nr A=1bh ¢2=a?+ b Special Right Triangles
N = A
h
w
¢
V= {wh V=nrth V= %nﬂ

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.
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Section 2, Module 2—Harder: Math

For multiple-choice questions, solve each problem, choose the correct answer from the choices provided,
and then fill in the circle with the answer letter. Enter only one answer for each question. You will not get
credit for questions with more than one answer entered, or for questions with no answers entered.

For student-produced response questions, solve each problem and write your answer in the test book as
described below.

« Enter your answer into the box provided.
« Ifyou find more than one correct answer, enter only one answer.

+ Your answer can be up to 5 characters for a positive answer and up to 6 characters (including the
negative sign) for a negative answer.

« Ifyour answer is a fraction that is too long (over 5 characters for positive, 6 characters for negative),
write the decimal equivalent.

« Ifyour answer is a decimal that is too long (over 5 characters for positive, 6 characters for negative),
truncate it or round at the fourth digit.

« If your answer is a mixed number (such as 3%), write it as an improper fraction (7/2) or its decimal
equivalent (3.5).

» Don't enter symbols such as a percent sign, comma, or dollar sign in your answer.

| CONTINUE 4
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[Iarifor Review

n [:] Mark for Revnv

If y - 7 = x, which table glves three values of x and

their corresponding values of y? ¢
{ )
oL,
a
4 3 83°
5 2
6 1
L J
, 1 b
o]
TS y
4 |11
5 | 12 Note: Figure not drawn to scale.
6 | 13 :
L ) In the figure shown, line c intersects parallel lines 2
p N and 4. What is the value of y?
-7 | ® 7
4 |1 L J
M 4 )
5 | 2 3 o3
6 13 \. J

> SRNCKL

al P )
4 |13 |l © 173
. \. J
5 | 12 :
6 | 11
\ J

ﬂ [Ima

The number 24 is what percentage of 80”

@ 24%
(— )
30%
\ J
© 56%
( )
L@ 70%
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- [] Mark for Rewew £

The functlon fis defined by f(x) = 3x + 12. For what g0) = (1 1)(5)" - 17
value of x is f(x) = 27? :

The function gis defined by the given equation. Which
of the following is the y-intercept when y = g(x) is

graphed in the xy-plane?
' i P ~
P | ® o1

( )
0, 5) |
.

( =)

k © ©.-1n
£ & e L )
The functlon ng s defined by g(x) = 120(x)°, whenx = 0. \
What is the value of g(gj ? p 029 y

V@ 0
( 40

J
\ © 120 ) Which of the following expressions is equivalent to the
p . given expression?
360 F( 5 —
L@ | ® ey
PoN— /

4 A

6
L (y-4)(6-3y)

)
In right trlangle LMN angle Nis aright angle, and the é@ 2y +2 )
value of tan(/) is g . What is the value of sin(M)? ( 18 )
| © (y-4)(6-3y)
s ) - /
® ¥ f
L 7 )
f @
\. J
( )

@)
| w

r
\

| CONTINUE _ 2
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B[ ver

The function g4 is defined by g(x) = (x - 9)(x + 2)(x + 9). :  Which of the following tables gives three values of

e

When the graph of y = g(x) is translated down 10 units :  xand their corresponding values of y that are all
in the xy-plane, the graph of y = 7(x) is the result. What ¢ solutions to the inequality y > 4x — 5?
is the value of 7(0)? ., \
O,
4 8
6 | 16
\ J
x|y
If arectangular prism has a height of 10 feet, a length 4 | 14
of 12 feet, and a volume of 6,000 cubic feet, what is the ) 6 | 22
surface area, in square feet, of the prism? L )
: { A
© X _}l
2 6
4 |14
6 | 19
L )
{ A
@ X _}l
For the function ﬁ when the value of x increases by 2 3
1, the value of f(x) increases by 28%. Which of the 4 | 11
following equations defines f if f(0) = 11? 6 | 10
y i )

® Ao =0.7201)"

flo) = 1.28011)"

© fo = 110.72)"
. -/

@ f = 110128y
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Which of the following expressions is (are) a factor of
5x% - 61x + 66?

I x-11
II. 5x—-6

@ I only J
p

II only
© 1landnl

@ Neither I nor II J

4-5y="Tx+ 5y
x—4=ky
The given system of equations has infinitely many
solutions. What is the value of the constant 4?

Section 2, Module 2—Harder: Math

B s EAL

A vendor sells vases for $6 50 and bowls for $12 30

The maximum combined number of vases and bowls
she can sell during one weekend is 750. If during that
weekend she sells only vases and bowls and earns at
least $7,780, what is the maximum number of vases she
could sell?

]

For a certain chemlstry experlment the number of
moles of product increases each minute by % of the
number of moles the preceding minute. The function
gx) = T8, 500(1.52)% models the number of moles
of product created x seconds after the start of the

experiment. What is the value of #?

e =)

® -10

\— v

® 48

B) -5

® 52

© 60

®
o
®

10

m l:] Mark for Revuew

If3la + 2| - 5la + 2| = -24, what is the negative value
of a?

]

l@ 554 J

| CONTINUE 2
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BB vk fevie
The function g is defined by the equation g(x) = -3(5)". One solution to the equation x? + 4x — 14 = 0 can be

Which of the following equations defines the function # : written as -2 — J; _What is the value of the constant ¢?
if h(x) = glx + 3)?
s ( 3
1| ® s

J

\ ® hx = -27(125)

~

( i (@
hlx) = -9(15) : L

-
BRECE:

o\
Vi@

)
© ho =-96)

©® Ao = -375(5)"
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[:} Mark for Review

The equation 7x(7x + 6) = —c has exactly two real
solutions. If ¢ is an integer constant, what is the greatest
possible value of ¢?

]

Bl [varkforReview

A band member earns $500 for the first four concerts
performed during a given month plus a flat rate for
each additional concert that month. The band member
earned a total of $900 for playing 6 concerts in a month.
Which function g gives the total earnings, in dollars, for
x concerts, where x > 4?

e )

Section 2, Module 2—Harder: Math

EEY []wmerkfor Review

Data Set 1 Data Set 2
14 14
12 1 12 r
10 1 10 i T
E 84 ? 8 -
v 4. Q w
g 6 =& i
L’: 4 : iy — [:: 4 5 ¥ = s :
2 e e 3 . (| 2 . . j’* %E L:'.‘z -
- - — =1 s| = r
0 t 0 : t
200 300 400 500 600 700 200 300 400 500 600 700
Integers Integers

The histograms summarize two data sets, each with

35 integers. For each histogram, the intervals each
represent the frequency of integers greater than or
equal to the number at the left of the bar and less than
the number at the right of the bar. For example, the first
interval represents the frequency of integers greater
than or equal to 200 and less than 300. What is the

@ () = 150x greatest possible difference between the means of the

L £ ) two data sets?

s ) B
20 = 150x + 500 L@ 1
© g0 = 200x - 300 L 35

\, J J/

4 ~\ a
® g = 200x + 500 @ 100

STOP

If you finish before time is called, you may check your work on this module only.
Do not turn to any other module.
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SIGNATURE: pate. / [/

HOME ADDRESS: For both the Reading and Writing and

(Print) Number and Street the Math, be sure to only fill in the

bubbles for the version of Module 2 that

City State Zip Code you took. If you took the Easier Module

PHONE NO.: 2, only fill in the answers in the Easier

(Print)
DATEOFBIRTH: __ /  /
(Print) Month / Day / Year

column. If you took the Harder Module
2, only fill in the answers in the Harder
column.,

Section 2: Module 1 Section 2: Module 2 (Easier) Section 2: Module 2 (Harder)
Math Math Math
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PRACTICE TEST 2: MULTIPLE-CHOICE ANSWER KEY

Module 1 Module 2 Module 2 Module 2
(Easier) (Harder) (Easier) (Harder)
1. C . D 1. D 1. D 1. C 1. B
2. D 2. A 2. A 2. B 2. C 2. C
3. C 3. C 3. C 3. 7 3. 78 3. B
4, B 4, B 4. A 4. A 4. 7 4. 5
5. B 5. C 5. B 5. C 5. 4 5. C
6. A 6. A 6. A 6. D 6. B 6. C
7. B 7. D 7. A 7. C 7. A 7. D
8. D 8. A 8. B 8. C 8. D 8. A
9. D 9. C 9. B 9. B 9. A 9. -172
10. C 10. B 10. B 10. A 10. B 10. 2440
11. D 1. C 11. B 1 11. 125 1. D
12. B 12. D 12. C 3
13. A 13. A 13. C or.5
14. C 14. D 14. D 12. B 12. C 12. B
15. B 15. A 15. D 13. A 13. A 13. C
16. B 16. B 16. B 14. -39 14. C 14. A
17. D 17. B 17. D 15. -8 15. D 15. -14
18. B 13. B 18. D 16. B 16. B 16. 249
19. A 19. D 19. B 17. 64 17. -14 17. B
20. A 20. A 20. B 18. B 18. 7 18. D
21. A 21. D 21. C 19. D 19. C 19. A
22. D 22. B 22. D 20. C 20. A 20. 8
23. A 23. A 23. B 21. 8 21. D 21. C
24. B 24. C 24, A 22. D 22. B 22. D
25. D 25. D 25. D
26. A 256. C 26. C
27. C 27. C 27. C
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